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oell oy ealdd »is sl YU S guld ©.

Figures to the righ
Alg dew-tda il usal.
Simple calculator is allowed.

. [Max. Marks 70

I (@) Ruyd- siis aeieiaisdl 2l 520 d-l GualPwdb ik

Find coefficient of correlation
following data of bivariate table.

21Ydl/OR

ORlALs deid wled ¢ ? AU sdoitiusiRi-l 2l 21
What is association ? Discuss different types of assoeiation.

(b) A Rad siwesdl wledl udl aatrudsll Ad AL ﬂ.uvfil :
by the product moment method from the

x J

Y | 010 | 10-20 | 20-30 | 30-40

e W 12 | - | -

15 18 8 20 -

| 25 - - 6 5

Wy - | - -1
214dl/OR

)y ) -la-l uledl W suis weAelnis wal

DP-102

Discuss the method of Spearman’s rank correlation. Give its uses.

t side indicate full marks of the question.

Find rank correlation coefficient from the following data :
" i s -

X 50 75 66 64 45 12
4 el —

Y 8 22 17 8 40 2

1
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(i) A n=10,T=15y=18 Txy=3500
\ S =11, 8, =12 &l4 dl ueaioiuis syl

Ifn=10,x=15,y =18, Txy= 3500,
Sf 11, Sy = 12, find correlation coefficient.
(c) A (A) = 120, (B) = 130, (AB) = 50 11 N = 220 ¢lu dl (1) Wl #q

(ii) ¢9ell3d 2 200Ba 2uqf) Wvumel Aa-d Guio 5304 adiioys
- Heltl wsiR 58l s3l.

If (A) = 120, (B) = 130, (AB) = 50 and N = 220, determine the néfurelof

association using (i) Proportional method and (11) method of comparing observed
and expected frequencies.

AU%U/OR

W ulanni 900 Rendll=ll Qs sdi. duisll 555 lsTal @edl. 300 (eneflail
W UL i duidl 155 wlsPlail edl yaql oRucts Heikis dL.

900 students appeared in an examination, 555 out of them were girls. 300

students were passed and 155 of them were girls. Find Yule’'s coefficient of
association.

2. (a) walpudl %92l Aa areual A FI3vutt ad Al 2pnan qoldl A
Anenal.

State different methods of forecasting ‘and explain method of least square for
obtaining linear trend.

»1{4al/OR
qeusla yalpuq ded g 2 daidly yalquund sew 2sui amenal.,
What is business forecasting ? Explain its importance in short.

(b) @ =08 3t AFBUd] yalpuirt 350 @ Nd-u aul W2 widifly wzellsz o)
Ad yal4iid dual.

Taking @ = 0.8 and initial forecast as 350, determine the forecast for following
years by Exponential Smoothing Method.

In&i 1985 | 1986 | 1987 | 1988 | 1989

| Year

rl?tﬁlﬂm [3‘-1:

Observed value

400 | 420 | 450 | 490 | 540

L

AUYW/OR
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DP-102

DAL bl 2 Gad wadad wlsze 4adl

Obtain the equation of Second degree parabola from the

following Data.

—

ay

Year

1995

. 1996

1997

1998

1999

Selien (soml)
Production (in '000)

10

ey |

—1.
12

8

—

—

QAL suledl 22 y3vud vl w3l wAd ad 2007 e 44

wugl :

Fit a straight line to the following

o —

'!

Y

Year

2001

2002

4

T |
2003 | 2004 _2005‘ ' 2006

QAL (8o 2ul)
Sale (in '000 tons)

= e s ————

25 |

Fit a straight line to the'foll

AW OR
il 2l 312 v studrd 521 2l 2000 Mie st Hgn 53

aM

Year

L—#———-

= R

451 ($MI™L)
Profit (' 000 %)

| [ i
| 1990 l 1992 *1994 1996 | 1998

W R

I

28

30

|

e, i

data and forecast the scale of the year 2007.

35

e

40

1

e ——

4

P———

|

ﬂ

45

52

58

'r

63

67

owing data. Estimate the profit for the year 2000.

aadlfruug wisst wed 3 7 wdl [Awus wissl wsst sl dl s

HHMAL

What is demographic statistics ? Explain briefly methods for collecting it.

HYWOR
wmea4l - HiEl ¥-4E2 (CBR), A=Y u¥ &2 (GFR) , “lA 3y €2 (IMR).
Explain CBR, GFR, IMR.

4
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(O & o wd?l W e w4 waldig
Awal (d B A walid dai

Caleulate CDR and SDR of the following two citi
‘ ng ¢
ity B as standard ciry, ties and

MY B2 (CDR ¥t SDR) alll oty

compare them. Take

I | us A _ ud B
dm: - City A City B
A {anibm | "
| ge Al Yey AWl al Yey Avy "
| Population | Deaths Population | Deaths
O-15 7,000 520 T 5,000 1 380 N
15-30 12,000 240 20,000 300
30-50 18,000 120 | 25,000 420
Sodl ay |
e o 3,000 480 | 7,000 8
AYQW/OR

21 SDR) i dM

rmation and compare it. (Take

AL sl e e s walia yeyes
Aval. (w8 A 4 wuldid ddi)

Calculate CDR and SDR from the {oll
Town A as Standard).

ud: B
Town B
Gu: il
62 SR MY | (gani) | ER SR ¥y
| Deaths per Population Deaths per
thousand thousand
(in ' 000)
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(©) -l suledl sz GFR, SFR »i4 TFR 4l -

Calculate GFR, SFR and TFR from the following information :
& 620 | T 41-45 | 46-50
L 16-20 | 21-25 | 26-30 | 31-35| 36-40
Agﬂ e —
: . 4 — + 8 5
M-l vy (gomzui) | 32 30 24 | 15 12

No. of females (in '000) K _
. 5 20
%l sunsi-l vy 1000 | 2200 | 4000 | 3500 | 1200 ME

Total no. of births

“{24U/OR >
s udedl ga axdl 4,00,000 8. dxi wllwiAl A 50% & A 2_'41_’"1“‘
gt au uziadl el ga Bl 45% 6. A 4 udi s il 54
3200 “UNSL THA sld dl d ae3-l Wel U123 il
The total population of a city is 4,00,000. Of them 50% are females and 45:;::

total females are in child bearing age group. If 3200 total number of births
been taken during a year in that city, then find General fertility rate of that city.

(a) Gelerel Aled uvaal : Ak dlos, [@sell s
Explain with illustration : Symmetric matrix and Diagonal malrix.
»19a/OR
s wzaan, seetdl wd oeusEat skaa el %3¥1 A weudl.

sq13 A Alets w5 ot ? | |
Write necessary conditionfor the existence of addition, subtraction and

multiplication of matfices, When inverse matrix is not applicable ?
(b) ad Azl Guala s34 - Hlsze G54l :
Solve the following equations using Inverse matrix :
2x—Sy+z=1,%%3y +22= 19, 4x+y+5z2=15
294/OR

.\ el . g 47 s : P
®) (1) mA=[1 ’ ]ms=[? m]em.nlm[&mm!s(m) BTAT,

4 -2 3 4J —
A=[l . ]andB-[7 o | prove that (AB)T = BTAT.

5§ -3

@) AA=| -1 7
4 6 _

: -] .
:utrtB=[§ g 4 ]elll dl 5AT - 3B sl4l.

. '73 _[2 0 -1
IfA= | —I andB={ , , 4
L 4 0 _

J find 5AT - 3B.

DP-102 P.T.O.

Scanned with CamScanner



(c) °eﬁA=[§ g]e‘m ol a[ktamﬂul%tﬂas=“ ?]um. 4

Fs s
IfA—-[ 3 2 ] ﬁndmatristuchthatAB=[ :} ? ]
WUA/OR
" 2y 1) o ARs A ABid Slu al x,y, z ll.
(C) ‘Aﬁ_ X q Z élll ﬂl (l) ﬁ a@ .
o 8 o 1 BL5 A [RAB1d ¢ld dl p, g, 1, x, y, z L.
P 5 y]| () Findx,y,zifA is symmetric matrix.
- I? g “ (1) Findp,q,r,x,y,2zif A is skew symmetric matrix.
L - r
5. YL WMel wus 2l ¢ 14
Do as directed :

(1) = x,y)=-021 ¢l dir(2-x, y+2)3 udl ?
Ifr(x, y) =—0.21 what will be r (2 - x, ¥ + 2).2
(2) ABUAS AHAALsL He uedoly Haqdl Alell wly ugla 56 2
To obtain the correlation for qualitative data which is the best method ?
(3) $Mis AgAGEisH sudl dgidddl 1l xan .
In rank correlation sum of differences of rank is always .
(4) % A 21 B 2ada ARyl <l wd (AB) = 80, (af) = 50, (aB) = 160 ¢ld l
(AP) ulul.
If (AB) =80, (ap) = 50, (aB) = 160 find (AB) if A and B are independent
attributes.
(5) ulsdll Aonddl 158l 52U
Determine the consistency of data.
(A) = 100, (&) = 80, (B) = 160, (AB) = 110.

(6) B 0=025,=200,T, =4¢lud % all.

ffa=028, =200,T =4find5%,.
(1) “atpifia Bt wid 3a Bad dlu aell Sl 9.7 2 [ W © 5wl ?

“Forecasting values and actual values are always equal.” This statement is true

or false 7
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&

i , qy — 1999

2005 M1 Y it £,

. 9
The fitted straight line is Y = 59.72 + 2.58 (X) where X =

Forecast Y for the year 2005.

(99 CBR___ GFR(K, =, >).

(10) 15 2d2+l CBR =256. axd\ 3,00,000 8. dl ¥~
For a city CBR = 25, total population = 3,00,00

(11) 2$ WHlld 2482l CDR=21.756 dl d
The value of CDR for standard city is 2 same City.
(lZ)ﬁA=[ él'ldlk"ﬂ&i-s sy Yl ?

: 3 k
IfA=[2 6 forwlnc

A 2ivaL sl
of live births.

does not exist ?

(13) A A =[32] 2”1 AB allul.
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